
BH13198 Dual Rear Exit 

Qty. Description 

1 2.25” Band Clamp 

10 2.5” Band Clamps 

2 2.5” Coupler Clamps 

1 Left Side Crossmember Hanger - A 

1 Left Side Crossmember Hanger - B 

1 Right Side Crossmember Hanger - C 

1 Right Side Crossmember Hanger - D 

1 Front Tailpipe Hanger Frame Bracket 

1 Left Side Rear Tailpipe Hanger Frame Bracket - E 

1 Right Side Rear Tailpipe Hanger Frame Bracket - F 

2 Rear Tailpipe Hanger Plates 

6 Rubber Hanger Isolators 

4 1/4-20 x 1” Flanged Head Bolts 

4 1/4-20 Flanged Head Nuts 

4 5/16-18 x 1” Flanged Head Bolts 

4 5/16-18 Flanged Head Nuts 

4 3/8 x 1” Bolts 

4 3/8 Flanged Head Nuts 

6 1/2-13 x 1-1/2” Bolts 

6 1/2-13 Lock Nuts 

12 1/2 Flat Washers 

2 5/8-11 x 1” Bolts 

2 5/8-11 Lock Nuts 




